[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003
0.002E
0.001

eHICIgNCYYS ¥

o O

B : ] 1 :

@ 15f-crees i ERREREREE RRERE | J SR o EEEEEERERES
1% ......... L SO S B N TRy

1072 10 1 10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWT3

~ 0.021

018
@ E : : : : :
20.016f------ 5 RS SRR R i P
3 E : : : : :
$.014------ 5 Rl RS A P
5 E : : : :
$.012---- (8 AR ER SR A P
o E : : : :

0.0+ S Rl S AR R P
0.008F- -+~ ie e

0,006 -+ f {1 -vorebereeemvicof
0.004 ' ;
0.002

F—" N

o Ofr W
5 ok b LA AT E
o T
L 11011 -
-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0%

086 -4-20 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


